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87 1336  [RER DD VELNNE W) 1 R K (C)3km mpEF
88 1337 =K Epim Ry 1 R K (C)3km mpES
89 1355 FHH HKP a4 71 3 B K (C)3km =g
ZF /PMFE (D)1km
NO K% 72Uh T FE B N il
1 2 BIE I8 Y 5 R K (D)1km BE/D
2 3 WE RE5 /) b 5 R K (D)1km ACTEE
3 4 FE fF L% 43 5 R K (D)1km RHEIAKJIRC
4 5 A BS NY 198K 5 HE K (D)Tkm REIXKJIRC
5 6 hRE Fitk Thy'w x 4 fE K (D)1km TEKJIRC
6 7 BlE thZ 174% 1% 4 fE K (D)1km &N JIRC
7 8 M E£H JL7 31 4 fE K (D)1km &K JIRC
8 9 lEE ER YIN'Y7 %37 2 R XK (D)1km ENJIRC
9 10 Bk =M hyTh b 1 H K (D)1km RENJIRC
10 11 BE If IV IRk 4 R K (D)1km HKEg /N
1112 L% Zm Y1) ITh 3 R XK (D)1km AIAC
12 13 HE B h¥ng 17 4 fE K (D)1km AHEAKJIRC
13 582 AH =4I T4 3t 3 & [ (D)1km AIgbE 977
14 617 EH xE IWERY) 2 & [ (D)1km AIgbE 977
15 14 i = NIX4 74 3 B K (D)1km fIMJIRC
16 15 FE ZER Thyw 747 6 R K (D)1km FIMJIRC
17 16 fBA A& 795 3% 6 H K (D)Tkm FiMJRC
18 17 Ky BZ YH#'% T 5 R K (D)1km fiMJIRC
19 18 K #h3E % 73 3 XK (D)Tkm FiMJRC
20 19 KFE FhiE TA4h 2Rk 5 R K (D)1km fIMJIRC
21 20 RE B3 #1945 74 4 HE K (D)1km fiMJIRC
22 21 RE %i ¥IL941) b4 2 R XK (D)1km E,J\NJRC
23 22 KM % TN 7UY 2 4 R K (D)1km BEARJAC
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L= Smas

NO K% 72Uh T FE B L FilE
1 22 AKX K VINDEVE 4 R K (D)1km M ITBRC
2 23 AKX 155 H4 anb 3 R XK (D)1km M F5RC
3 24 Wiz BEX YIh'4 a4 5 f XK (D)1km AIAC
4 25 AT DME Thh7 yot4 5 R K (D)1km AIAC
5 26 AT BE L2 Wbk 5 B K (D)1km AIAC
6 32 W OSRIE HARI% 4444 6 R K (D)1km HEZKJAC
7 33 Lt fmth L7h3 3F% 6 R K (D)1km BEARJAC
8 34 A Rt 778 447 6 R K (D)1Tkm AEARJAC
9 35 BRF¥ EM EEVIN 3 R XK (D)1km HEZKJAC
10 36 #H [E—ER % Yu4FaY 3 XK (D)Tkm EEmEMA
11 37 = EARR EY Yanson 2 R XK (D)1km EEHME
12 57 S WE UhE Va4 1 HE K (D)1km NJAC
13 58 2 mEk A¥'LT 49 2 H K (D)1km NJAC
14 59 KNl EH woh7 LUk 3 B K (D)1km NJAC
15 60 na #HwEA hITF 4y 3 R XK (D)1km NJAC
16 61 HES 15 Eah 4l 3 B K (D)1km NJAC
17 62 KEE B Yha' b4 4 fE K (D)1km NJAC
18 63 M# iz 44L7 Vav/AF 4 B R (D)Tkm NJAC
19 64 hE BZFE 141 Y7 4 fE K (D)1km NJAC
20 65 28Il #X YIhAT 174 4 fE K (D)1km NJAC
21 66 il & YT TUY 5 R K (D)1km NJAC
22 67 WO B YI9°F )aot4 5 H K (D)1km NJAC
23 68 BA Eik AhEh EEO 6 R K (D)1km NJAC
24 69 iR 28 2479 Yank 6 FE K (D)1km NJAC
25 70 B’ EKX EhY 94 5 R K (D)1km TAY=r7-9
26 71 R &K % IVEDE! 3 R XK (D)1km TA)=rI=%
27 72 B B Eh'Y 44 2 R XK (D)1km TA)=r7=%
28 74 HE BEX VAN Wt 5 f XK (D)1km TAY—k7=9
29 76 s %51 AEEIRL]S 3 R XK (D)1km TAY=k7=%
30 77 ER BE E3E bV 3 B K (D)1km TAY—=t7-9
31 78 Bl = NHx V)7 3 R XK (D)1km TAY=rI—%
32 719 B Kt VESOR T, 2 HE K (D)1km TAY=k7-%
33 80 B EX YAy 194874 6 HE K (D)1km TAY=r7-%
34 81 EH = p2E 7YY 5 f XK (D)1km RSN
35 82 AW ENE  A7% Van/Ax 3 X (D)Tkm BEARS> 70
36 12 L% Zm YI) ITh 3 R XK (D)1km AIAC
37 22 KM % TN 7Uv 2 4 HE K (D)1km BEARJAC
38 23 R Ny nlb 6 H K (D)Tkm BERJAC
39 24 M P Ny nt 4 R K (D)1km REARJAC
40 25 ME #ZX 4 13 3 B XK (D)1km ELEEME
41 26 ®iE BE b TRE 4 HE K (D)1km PRAF /N
42 40 iR B W87 hYY 2 R XK (D)1km NJAC
43 41 HF FH Thas 7y 2 R XK (D)1km NJAC
44 42 B HE YU¥ *avh 3 B K (D)1km NJAC
45 43 Al RE 1)¥v 31 3 R K (D)1km NJAC
46 44 ALl ERR 1)¥3 a1t 5 R XK (D)1km NJAC
47 45 HA DB 4h7 71 6 R K (D)1km NJAC
48 46 KEF BT Yha' Ut 6 HE K (D)1km NJAC
49 47 WA SEH] YIEh 90 6 HE &K (D)1km NJAC
50 48 HFr FF ThLT anl 6 HE K (D)1km NJAC
51 49 MF EE 1594 397 6 H &K (D)1km NJAC
52 52 BT B R Z WIS 3 R XK (D)1km TAY=FI=%
53 55 U BFEE Yvyn 1yt 3 R XK (D)1km TAY=r7-%
54 56 mE E Fhv 1)y 6 R K (D)1km TAY=rI=%
55 57 FAY N 4=%h 124 4 R K (D)1km ALL/\ X
56 58 HK B VIR Y 4 HE K (D)1km ALL/\ X
57 59 fHE KB L3h3 7HY 4 B K (D)1km ALL/\ X
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